Respondent Name

Mike Hadaller

Complainant Name

Karlene Raines

Complaint Description

Karleneraines

(Wed, 19 Oct 2022 at 10:18 PM)

Mike Hadaller has Not reported his campaign finances as required by state law. He failed to comply with WAC 390-16-105 and RCW42.17A. He selected the "mini reporting" option, but I have provided clear evidence that he has exceeded the limitation of \$5,000 in expenditures. The evidence I have provided shows that Mike Hadaller has spent more than \$11,000. He did not change his reporting option to "full reporting" and he has not reported any of his contributions nor his expenditures as required by RCW42.17A

What impact does the alleged violation(s) have on the public?

RCW 42,17.001 provides a comprehensive explanation of the impact that candidate secrecy has on the public. Candidate secrecy undermines the sovereignty of the people and the necessary preconditions to the sound governance of a free society. Mike Hadaller's secrecy robs the public of their right to be assured that his financial dealings present no conflict of interest between the public trust and private interests. Candidate secrecy also erodes the public confidence in government.

List of attached evidence or contact information where evidence may be found

- 1. KITI-AM invoice \$800
- 2. KITI-FM invoice \$1,680
- 3. Bicoastal Media invoice \$1,500
- 4. Bicoastal Media invoice \$2,656
- 5. KMNT-FM invoice \$672
- 6. KMNT-FM invoice \$112
- 7. KMNT-FM invoice \$384
- 8. LAFROMBOISE COMMUNICATIONS (The Chronicle) newspaper invoice \$3,100
- 9. KELA-AM invoice \$256
- 10. Pictures of Mike Hadaller signs

List of potential witnesses

Advertising Department at the Chronicle newspaper.

Below are link to the FCC website where I obtained the invoices for the radio ads.

https://publicfiles.fcc.gov/fm-profile/KITI-FM/political-files/2022/local/mike-hadaller-lewis-county-pud-district-3/7de019fb-4cca-105d-1046-568ed2d9005f

https://public files.fcc.gov/am-profile/KITI/political-files/2022/local/mike-hadaller-lewis-county-pud-district-3/e6d1903d-9a8a-f342-43a3-18166ea6c0e2

https://publicfiles.fcc.gov/fm-profile/KMNT/political-files/2022/local/mike-hadaller-lewis-county-pud-commissioner-district-3/b71510ec-99d9-0d2b-b6d2-420a17cf3024

https://publicfiles.fcc.gov/am-profile/KELA/political-files/2022/local/mike-hadaller-lewis-county-pud-commissioner-district-3/c46c16ce-f27a-56b9-172b-07fa7f09548f

Certification (Complainant)

I certify (or declare) under penalty of perjury under the laws of the State of Washington that information provided with this complaint is true and correct to the best of my knowledge and belief.

PREMIER BROADCASTERS, INC. 1133 KRESKY ROAD

CENTRALIA, WA 98531 (360)736-1355 KITI-AM & K263BS-FM INVOICE

OrderID: 2853-001

Sponsor: Mike Hadaller PUD Commisioner District #3
Product: Mike Hadaller PUD Commisioner District #3

Estimate/PO:

AccountRep: Cara Legg
BillingCycle: Calendar Month
InvoiceType: Times/Rates

Run Dates: 10/19/2022 - 11/3/2022

Items Ordered: 50 Ordered Amount: \$800.00

MIKE HADALLER P.O. BOX 359 SALKUM, WASHINGTON 98582

Scheduled Station(s): KITI-AM & K263BS-FM Mike Hadaller PUD Commisioner District #3

Printed 10/14/2022 11:10:13 AM Page 1

	Run Dates	Run Weeks	Run Times	Mon	Tue	Wed	Thu	Fri	Sat	Sun	Week Total	Length	Description	Avail Type	Copy ID	Qty	Item Cost	Total Cost
01	10/19/2022 - 10/21/2022	All Weeks	06:00 AM - 10:00 AM			2	2	2			6	:30	Spot		3437	6	16.00	96.00
02	10/19/2022 - 10/21/2022	All Weeks	10:00 AM - 03:00 PM			1	1	1			3	:30	Spot		3437	3	16.00	48.00
03	10/19/2022 - 10/21/2022	All Weeks	03:00 PM - 07:00 PM			2	2	2			6	:30	Spot		3437	6	16.00	96.00
04	10/25/2022 - 10/28/2022	All Weeks	06:00 AM - 10:00 AM		2	2	2	2			8	:30	Spot		3437	8	16.00	128.00
05	10/25/2022 - 10/28/2022	All Weeks	10:00 AM - 03:00 PM		1	1	1	1			4	:30	Spot		3437	4	16.00	64.00
06	10/25/2022 - 10/28/2022	All Weeks	03:00 PM - 07:00 PM		2	2	2	2			8	:30	Spot		3437	8	16.00	128.00
07	11/1/2022 - 11/3/2022	All Weeks	06:00 AM - 10:00 AM		2	2	2				6	:30	Spot		3437	6	16.00	96.00
80	11/1/2022 - 11/3/2022	All Weeks	10:00 AM - 03:00 PM		1	1	1				3	:30	Spot		3437	3	16.00	48.00
09	11/1/2022 - 11/3/2022	All Weeks	03:00 PM - 07:00 PM		2	2	2				6	:30	Spot		3437	6	16.00	96.00

Calendar Month Projected Billing:

Oct-22 560.00 Nov-22 240.00 Dec-22 0.00 Q4-2022 800.00

Confirmed Correct; Payment Guaranteed Accepted for KITI-AM & K263BS-FM

PREMIER BROADCASTERS, INC.

1133 KRESKY ROAD CENTRALIA, WA 98531 (360)736-1355

> MIKE HADALLER P.O. BOX 359 SALKUM, WASHINGTON 98582

KITI-FM ("Live 95") INVOICE

OrderID: 2853-002

Mike Hadaller PUD Commisioner Sponsor: Product: Mike Hadaller PUD Commisioner

Estimate/PO:

AccountRep: Cara Legg BillingCycle: Calendar Month InvoiceType: Times/Rates

Run Dates: 10/19/2022 - 11/3/2022

Items Ordered: 80

Scheduled Station (S) # KITI PFMnt: \$1,680.00

Mike Hadaller PUD Commisioner District #3

Printed 10/14/2022 11:15:30 AM Page 1

	Run Dates	Run Weeks	Run Times	Mon	Tue	Wed	Thu	Fri	Sat	Sun	Week Total	Lengt	Descriptio	Avail Type	Copy ID	Qty	Item Cost	Total Cost
01	10/19/2022 - 10/21/202	All Weeks	06:00 AM - 10:00 AM			3	3	3			9	:30	Spot		3437	9	21.00	189.00
02	10/19/2022 - 10/21/202	All Weeks	10:00 AM - 03:00 PM			2	2	2			6	:30	Spot		3437	6	21.00	126.00
03	10/19/2022 - 10/21/202	All Weeks	03:00 PM - 07:00 PM			3	3	3			9	:30	Spot		3437	9	21.00	189.00
04	10/25/2022 - 10/28/202	All Weeks	06:00 AM - 10:00 AM		3	3	3	3			12	:30	Spot		3437	12	21.00	252.00
05	10/25/2022 - 10/28/202	All Weeks	10:00 AM - 03:00 PM		2	2	2	2			8	:30	Spot		3437	8	21.00	168.00
06	10/25/2022 - 10/28/202	All Weeks	03:00 PM - 07:00 PM		3	3	3	3			12	:30	Spot		3437	12	21.00	252.00
07	11/1/2022 - 11/3/2022	All Weeks	06:00 AM - 10:00 AM		3	3	3				9	:30	Spot		3437	9	21.00	189.00
08	11/1/2022 - 11/3/2022	All Weeks	10:00 AM - 03:00 PM		2	2	2				6	:30	Spot		3437	6	21.00	126.00
09	11/1/2022 - 11/3/2022	All Weeks	03:00 PM - 07:00 PM		3	3	3				9	:30	Spot		3437	9	21.00	189.00

Calendar Month Projected Billing:

Oct-22 1,176.00 Nov-22 504.00 Dec-22 0.00 Q4-2022 1,680.00

Confirmed Correct; Payment Guaranteed

Accepted for KITI-FM

KITI FM DOES NOT DISCRIMINATE IN ADVERTISING CONTRACTS ON THE BASIS OF RACE OR ETHNICITY.

CANDIDATE ADVERTISEMENT AGREEMENT FORM

See Order for proposed schedule and charges. See	e Invoice for actual schedule and charges.							
	, hereby request station time as follows:							
FEDERA	L CANDIDATE PR LOCAL CANDIDATE							
ALL QUESTIONS/BLOCKS	MUST BE COMPLETED							
Candidate name: MIKE HADALLER.								
Authorized committee:								
Agency requesting time (and contact information):								
N/A								
Candidate's political party:								
Office sought (no acronyms or abbreviations): Public Utilities Destrict 3 WA Date of election: SIZI 2022. Treasurer of candidate's authorized committee:								
The undersigned represents that:	inhad by (check one box below):							
(1) the payment for the broadcast time requested has been furn the candidate listed above who is a legally qualified cand	didate, or							
the authorized committee of the legally qualified candid	ate listed above;							
(2) this station is authorized to announce the time as paid for by	such person or entity; and							
(3) this station has disclosed its political advertising policies, incl and other sales practices (not applicable to federal candidate	luding applicable classes and rates, discount, promotion							
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRING THE PLACEMENT OF ADVERTISING.	RIMINATION ON THE BASIS OF RACE OR ETHNICITY							
Candidate/Committee/Agency	Station Representative							
Signature: MUX MM	Signature:							
Name: Allhe Hadaller	Name: Michael A. Courcel.							
Date of Request to Purchase Ad Time: 7/18/2002	Date of Station Agreement to Sell Time: 7/18/2020							

Federal Candidate Certification: The undersigned hereby certifies that the broadcast matter to be aired pursuant to this disclosure either (1) does not refer to an opposing candidate or, if it does, (2) contains a clearly identifiable photograph or similar image of the candidate or a duration of at least four seconds and a simultaneously displayed printed statement identifying the candidate, that for a duration of at least four seconds and that the candidate and/or the candidate's authorized committee paid for the candidate approved the broadcast and that the candidate, but the candidate and opposite that identifies the candidate, but the candidate and that the candidate has approved the broadcast.									
Candidate/Authorized Committee/Ag	ency								
Signature: MMM Holos		and the state of t							
Name: Mike Hadaller									
Date: 7-18-22									
	BE COMPLETED BY STATION OF								
Ad submitted to Station? Yes	No Date ad received:								
Note: Must have separate PB-19 Forms	s for each version of the ad (i.e., for e	very ad with differing copy).							
Federal candidate certification signed (abo	ove): Yes No	NVA							
Disposition: Accepted Accepted IN PART (e.g., ad copy in the provide reason: *Upload partially accepted form, then provide reason.	not yet received to determine sponsor ID								
Date and nature of follow-ups, if any (e.g.									
Contract #: 15 90 7	Station Call Letters: KMVI – FM	Date Received/Requested: フルタフ							
Est. #:	Station Location:	Run Start and End Dates: 7/19 - 7/27, 2022							
Upload order, this form and invoice (or truse this space to document schedule of the purchased or attach separately. If station of a contact person who can provide that the OPIF.	ime purchased, when about decading and a	is reflecting this transaction to the OPIF or d, the rates charged and the classes of time ed until an invoice is generated, the name red in the "Terms and Disclosures" folder in							

Confirmation



Bicoastal Media (Centralia, WA)
KMNT 104.3 FM | KELA-AM 1470
1635 South Gold Street
Centralia, WA 98531
360-736-3321

15907 07/18/22 Contract # Date Entered Ashley Werner Calendar Sales Person Billing Cycle **Direct Political** Revenue Source Revenue Type Cash Conflict 1 Political/Local

Product Contract Mike Hadaller for PUD Commissioner District 3

07/19/22 - 07/27/22

MIKE HADALLER FOR PUD COMMISSIONER

Signature Sign	Station	Date/Time	Schedule	Len	Comment				Rate	Qty	Total
Station Summary Count Gross Net	KELA-AM			00:30					16.00	29	464.00
Total 1500.00	KELA-AM			00:30					16.00	28	448.00
Station Summary Count Gross Net	KMNT-FM			00:30					12.00	49	588.00
KELA-AM 57 912.00 912.00 KMNT-FM 49 588.00 588.00 Rotation Station Date/Time Days 30 KELA-AM 07/19/22-07/27/22 MTWThFSSu Mike Hadaller PUD commissioner District 3/30 5613 07/19/22-07/27/22 OK Next 30 KMNT-FM 07/19/22-07/27/22 MTWThFSSu Wike Hadaller PUD commissioner District 3/30 5613 07/19/22-07/27/22 OK Next Projected Billing Count Gross Net July 2022 106 1500.00 1500.00						•	Total				1500.00
KMNT-FM 49 588.00 588.00 Rotation Station Date/Time Days 30 KELA-AM 07/19/22-07/27/22 MTWThFSSu Mike Hadaller PUD commissioner District 3/30 5613 07/19/22-07/27/22 OK Next 30 KMNT-FM 07/19/22-07/27/22 MTWThFSSu OV/19/22-07/27/22 OK Next Mike Hadaller PUD commissioner District 3/30 5613 07/19/22-07/27/22 OK Next Projected Billing Count Gross Net July 2022 106 1500.00 1500.00	Station Sur	nmary		,				Count	Gr	oss	Net
Rotation Station Date/Time Days	KELA-AM							57	912	2.00	912.00
30 KELA-AM 07/19/22-07/27/22 MTWThFSSu Mike Hadaller PUD commissioner District 3/30 5613 07/19/22-07/27/22 OK Next 30 KMNT-FM 07/19/22-07/27/22 MTWThFSSu Mike Hadaller PUD commissioner District 3/30 5613 07/19/22-07/27/22 OK Next Projected Billing Count Gross Net July 2022 106 1500.00 1500.00	KMNT-FM	 						49	588	3.00	588.00
Mike Hadaller PUD commissioner District 3/30 5613 07/19/22-07/27/22 OK Next 30 KMNT-FM 07/19/22-07/27/22 MTWThFSSu Mike Hadaller PUD commissioner District 3/30 5613 07/19/22-07/27/22 OK Next Projected Billing Count Gross Net July 2022 106 1500.00 1500.00	Rotation	Station Da	ate/Time	Days							,
30 KMNT-FM 07/19/22-07/27/22 MTWThFSSu Mike Hadaller PUD commissioner District 3/30 5613 07/19/22-07/27/22 OK Next Projected Billing Count Gross Net July 2022 106 1500.00 1500.00	30	KELA-AM 07	/19/22-07/27/22	MTWThFS	Su						
Mike Hadaller PUD commissioner District 3/30 5613 07/19/22-07/27/22 OK Next Projected Billing Count Gross Net July 2022 106 1500.00 1500.00	Mike Hadal	ler PUD commission	er District 3/30			5613	07/19/22-	07/27/22	OK		Next
Projected Billing Count Gross Net July 2022 106 1500.00 1500.00	30	KMNT-FM 07	/19/22-07/27/22	MTWThFS	Su						
July 2022 106 1500.00 1500.00	Mike Hadal	ler PUD commission	er District 3/30			5613	07/19/22-	07/27/22	ОК		Next
July 2022 106 1500.00 1500.00	Projected E	Billing						Count	Gr	oss	Net
106 1500.00 1500.00	July						2022	106			1500.00
					······································			106	1500	0.00	1500.00

CANDIDATE ADVERTISEMENT AGREEMENT FORM

See Order for proposed schedule and charges.	See Order for proposed schedule and charges. See Invoice for actual schedule and charges.							
I, MIKE HADALLER	, hereby request station time as follows:							
1	, not only requests and or time as to here.							
FEDE	RAL CANDIDATE							
IDENTIFY CANDIDATE TYPE STATE	OR LOCAL CANDIDATE							
ALL QUESTIONS/BLOCK	S MUST BE COMPLETED							
Candidate name:								
MIKE HADALLER								
Authorized committee:								
Agency requesting time (and contact information):								
N/A								
Candidate's political party:								
Office sought (no acronyms or abbreviations):								
LEWIS COUNTY PUD COMMISSIONER. DISTRICT 3								
Date of election:	General Primary							
November 2º, 2022								
Treasurer of candidate's authorized committee:								
The undersigned represents that:								
(1) the payment for the broadcast time requested has been fur	•							
the candidate listed above who is a legally qualified car								
the authorized committee of the legally qualified candi	date listed above;							
(2) this station is authorized to announce the time as paid for b	y such person or entity; and							
(3) this station has disclosed its political advertising policies, included and other sales practices (not applicable to federal candidates).								
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISC IN THE PLACEMENT OF ADVERTISING.	RIMINATION ON THE BASIS OF RACE OR ETHNICITY							
Candidate/Committee/Agency	Station Representative							
Signature:	Signature							
+ Mily Hall	Moutelf							
Name: MIKE HADALLER	Name: MICHAEL A. Cources							
Date of Request to Purchase Ad Time: 9/13/2022	Date of Station Agreement to Sell Time: 9/13/2023							

Federal Candidate Certification: The undersigned hereby certifies that the broadcast matter to be aired pursuant to this disclosure either (1) does not refer to an opposing candidate or, if it does, (2) contains a clearly identifiable photograph or similar image of the candidate for a duration of at least four seconds and a simultaneously displayed printed statement identifying the candidate, that the candidate approved the broadcast and that the candidate and/or the candidate's authorized committee paid for the broadcast or if radio programming, contains a personal audio statement by the candidate that identifies the candidate, the office being sought and that the candidate has approved the broadcast.									
Candidate/Authorized Committee/Agency									
Signature:									
Name:									
Date:									
TC	D BE COMPLETED BY STATION	ONLY							
Ad submitted to Station? Yes	s No Date ad receiv	ed: 9/13/22							
Note: Must have separate PB-19 Forms for each version of the ad (i.e., for every ad with differing copy).									
Federal candidate certification signed (above): Yes No No									
Disposition: Accepted Accepted IN PART (e.g., ad copy not yet received to determine sponsor ID)* Rejected – provide reason: *Upload partially accepted form, then promptly upload updated final form when complete. Date and nature of follow-ups, if any (e.g., insufficient sponsor ID tag):									
Contract #: 6 13 0	Station Call Letters:	Date Received/Requested:							
Est. #:	Station Location: CENTRALIA	9 1/3 1 2023 Run Start and End Dates: 9 12 1 - 1 1 - 20 22							
use this space to document schedule of to purchased or attach separately. If station	time purchased, when spots actually air will not upload the actual times spots a	ents reflecting this transaction to the OPIF or red, the rates charged and the classes of time aired until an invoice is generated, the name aced in the "Terms and Disclosures" folder in							

Confirmation



Bicoastal Media (Centralia, WA)
KMNT 104.3 FM | KELA-AM 1470
1635 South Gold Street
Centralia, WA 98531
360-736-3321

Contract # Date Entered Sales Person Billing Cycle Revenue Source Direct Political Revenue Type Cash Conflict 1

Product

16130 09/13/22 Ashley Werner Calendar

Political/Local
Mike Hadaller for PUD Commissioner District 3

Contract 09/21/22 - 11/01/22

MIKE HADALLER FOR PUD COMMISSIONER

Station	Date/Time	Schedule	Len	Comment	Rate	Qty	Total
KMNT-FM	09/21/22-09/30/22 5:00a-7:00p	3,3,3,3,3,0,0 All Weeks	00:30		16.00	24	384.00
KELA-AM	09/21/22-09/30/22 6:00a-10:00a	2,2,2,2,0,0 All Weeks	00:30		16.00	16	256.00
KMNT-FM	10/03/22-10/07/22 5:00a-7:00p	6,6,5,5,5,0,0 All Weeks	00:30		16.00	27	432.00
KELA-AM	10/03/22-10/07/22 6:00a-10:00a	3,3,3,3,0,0 All Weeks	00:30		16.00	15	240.00
KMNT-FM	10/17/22-11/01/22 5:00a-7:00p	5,5,5,5,5,0,0 All Weeks	00:30		16.00	60	960.00
KELA-AM	10/17/22-11/01/22 6:00a-10:00a	2,2,2,2,0,0 All Weeks	00:30		16.00	24	384.00
				Total			2656.00

Station Summary	Count	Gross	Net
KMNT-FM	111	1776.00	1776.00
KELA-AM	55	880.00	880.00

Rotation	Station	Date/Time	Days				
30	KELA-AM	09/21/22-11/01/22	MTWThFSSu				
Mike Hadalle	r PUD commis	sioner District 3/30		5613	07/19/22-11/01/22	OK	Next
30	KMNT-FM	09/21/22-11/01/22	MTWThFSSu				
Mike Hadalle	r PUD commis	sioner District 3/30		5613	07/19/22-11/01/22	OK	Next

Projected Billing	· · · · · · · · · · · · · · · · · · ·	Count	Gross	Net
September	2022	40	640.00	640.00
October	2022	119	1904.00	1904.00
November	2022	7	112.00	112.00
**		166	2656.00	2656.00

Printed 09/13/22 16:31:36 Page 1 of 1

CANDIDATE ADVERTISEMENT AGREEMENT FORM

I, MIKE HADALLER.	•							
1, <u> </u>	, nereby request station time as follows:							
IDENTIFY CANDIDATE TYPE	RAL CANDIDATE							
STATE	OR LOCAL CANDIDATE							
3 E	No. of the state o							
ALL QUESTIONS/BLOCK	S MUST BE COMPLETED							
Candidate name: MIKE HADALLER-								
Authorized committee:								
Agency requesting time (and contact information):								
I N∕A								
Candidate's political party:								
Office sought (no acronyms or abbreviations):								
CEWIS COUNTY PUD COMMISSIONER DISTrict 3.								
Date of election: General Primary								
Treasurer of candidate's authorized committee:								
\sim								
The undersigned represents that:								
(1) the payment for the broadcast time requested has been fur	nished by (check one box below):							
the candidate listed above who is a legally qualified car	ndidate, or							
the authorized committee of the legally qualified candi	date listed above;							
(2) this station is authorized to announce the time as paid for b	y such person or entity; and							
(3) this station has disclosed its political advertising policies, inc and other sales practices (not applicable to federal candidates)								
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.								
Candidate/Committee/Agency	Station Representative							
Signature: Hardist	Signature Whatself							
Name: Mille Hallaller	Name: MICHAEL A. COURCY,							
Date of Request to Purchase Ad Time: 9 22 22	Date of Station Agreement to Sell Time: 9 22 22							

to an opposing candidate or, if it does, (2 for a duration of at least four seconds and the candidate approved the broadcast ar	broadcast matter to be aired pursuant to contains a dearly identifiable photograpled a simultaneously displayed printed states and that the candidate and/or the candidate ains a personal audio statement by the candidate has approved the broadcast.	h or similar image of the candidate ment identifying the candidate, that e's authorized committee paid for the
Candidate/Authorized Committee/	Agency	
Signature:		
Name:		
Date:		
TC	BE COMPLETED BY STATION O	8
Ad submitted to Station? Yes	No Date ad received:	9/21/22
Note: Must have separate PB-19 For	ms for each version of the ad (i.e., for	every ad with differing copy).
Federal candidate certification signed (al	oove): Yes No	N/A
Rejected – provide reason:	omptly upload updated final form when c	
Date and nature of follow-ups, if any levy	i., insumcient sponsor ib tag).	
Contract #: /6/178	Station Call Letters: KMMT FM	Date Received/Requested: 9 / 22 / 22.
Est. #:	Station Location: CHATRALIA	Run Start and End Dates: 9/24 ~ 10/31 , 2022.
use this space to document schedule of purchased or attach separately. If station	will not upload the actual times spots aire	s reflecting this transaction to the OPIF or , the rates charged and the classes of time

Confirmation



KMNT 104.3 FM 1635 South Gold Street Centralia, WA 98531 360-736-3321

16178 09/22/22 Ashley Werner Calendar Contract # Date Entered Sales Person Billing Cycle Revenue Source Direct Political Revenue Type Cash Conflict 1

Product

Political/Local

Mike Hadaller for PUD Commissioner District 3 09/24/22 - 10/29/22 Contract

MIKE HADALLER FOR PUD COMMISSIONER

Station	Date/Time	Schedule	Len	Comment				Rate	Qty	Total
KMNT-FM	09/24/22-10/29/22 6:00a-7:00p	0,0,0,0,0,7,0 All Weeks	00:30					16.00	42	672.00
		·				Total				672.00
Rotation	Station Da	ate/Time	Days							
30	KMNT-FM 09	/24/22-10/31/22	MTWThFS	3Su		•				
Mike Hadal	ller PUD commission	er District 3/30			5613	07/19/22-1	1/01/22	OK		Next
Projected E	Billing		•				Count	G	ross	Net
September		-				2022	7	11	2.00	112.00
October						2022	35	56	0.00	560.00
							42	67.	2.00	672.00

Invoice # 16178-1



KMNT 104.3 FM 1635 South Gold Street Centralia, WA 98531 360-736-3321 Date 09/30/22 Sales Person Ashley Werner

Product Mike Hadaller for PUD Commissioner District 3

Balance Due 112.00

MIKE HADALLER FOR PUD COMMISSIONER

Prefer emailed invoices? Send request to centraliatraffic@bicoastal.media

Date	Description	Times	Qty	Rate	Total
09/24/22	Mike Hadaller PUD commissioner District 3/30 (00:30)	6:18a 7:16a 7:43a 8:00a 8:44a 9:18a 9:56a	7	16.00	112.00
		S	ubtotal (Spot:7)		112.00
		В	alance Due		112.00

Invoice # 16130-2



KMNT 104.3 FM 1635 South Gold Street Centralia, WA 98531 360-736-3321 Date 09/30/22 Sales Person Ashley Werner

Product Mike Hadaller for PUD Commissioner District 3

Balance Due 384.00

MIKE HADALLER FOR PUD COMMISSIONER

Prefer emailed invoices? Send request to centraliatraffic@bicoastal.media

Date	Description	Times	Qty	Rate	Total
09/21/22	Mike Hadaller PUD commissioner District 3/30	(5:30a 10:52a 1:27p	3	16.00	48.00
09/22/22	Mike Hadaller PUD commissioner District 3/30	(10:26a 1:56p 2:28p	3	16.00	48.00
09/23/22	Mike Hadaller PUD commissioner District 3/30	(5:28a 2:43p 3:43p	3	16.00	48.00
09/26/22	Mike Hadaller PUD commissioner District 3/30	(5:17a 5:31a 12:24p	3	16.00	48.00
09/27/22	Mike Hadaller PUD commissioner District 3/30	(11:26a 2:26p 3:42p	3	16.00	48.00
09/28/22	Mike Hadaller PUD commissioner District 3/30	(5:15a 10:22a 10:36a	3	16.00	48.00
09/29/22	Mike Hadaller PUD commissioner District 3/30	(5:16a 10:23a 2:36p	3	16.00	48.00
09/30/22	Mike Hadaller PUD commissioner District 3/30	(8:18a 9:33a 12:35p	3	16.00	48.00
1			Subtotal (Spot:24)		384.00
			Balance Due		384.00

10/17/2022 12:12:00 LAFROMBOISE COMMUNICATIONS, IN 321 NORTH PEARL CENTRALIA, WA 98531

Page 1 of 2 bwatson

Booked Ads

Begin Date: 03/01/2022 End Date: 11/30/2022

Entry Date: Entry ID:

Customer: 29123311 Edition: Ad Type: Section: Position: Sales Rep:

CUST #	CUSTOMER NAME	AD NUM	AD DESCRIPTION	RUN DATE	EDC	ATC	RTC	SECT S	R COLS	DEPTH	SPACE	AD COST	ST
29123311	MICHAEL HADALLER	616615	CC WEB - POLITICAL	07/01/2022	INT	OL	OL	MAIN CE	300.0	0 250.07	5000.00	\$350.00	I
29123311	MICHAEL HADALLER	617082	C POLITICAL	07/28/2022	TC	RE	CR	MAIN CE	5.0	0 5.00	25.00	\$350.00	I
29123311	MICHAEL HADALLER	617082	C POLITICAL	07/30/2022	TC	RE	CR	MAIN CE	5.0	0 5.00	25.00	\$350.00	I
29123311	MICHAEL HADALLER	617888	C WEB POLITICAL	09/13/2022	INT	OL	OL	MAIN CE	300.0	0 600.18	0000.00	\$250.00	I
29123311	MICHAEL HADALLER	617889	CC POLITICAL	09/17/2022	TC	RE	CR	MAIN CE	2.0	0 6.00	12.00	\$195.00	I
29123311	MICHAEL HADALLER	617889	CC POLITICAL	09/24/2022	TC	RE	CR	MAIN CE	2.0	0 6.00	12.00	\$195.00	I
29123311	MICHAEL HADALLER	617890	C WEB POLITICAL	10/01/2022	INT	OL	OL	MAIN CE	300.0	0 600.18	0000.00	\$500.00	I
29123311	MICHAEL HADALLER	617891	C POLITICAL	10/01/2022	TC	RE	CR	MAIN CE	2.0	0 6.00	12.00	\$195.00	I
29123311	MICHAEL HADALLER	617891	C POLITICAL	10/08/2022	TC	RE	CR	MAIN CE	2.0	0 6.00	12.00	\$195.00	I
29123311	MICHAEL HADALLER	617891	C POLITICAL	10/15/2022	TC	RE	CR	MAIN CE	2.0	0 6.00	12.00	\$195.00	0
29123311	MICHAEL HADALLER	617891	C POLITICAL	10/22/2022	TC	RE	CR	MAIN CE	2.0	0 6.00	12.00	\$195.00	0
29123311	MICHAEL HADALLER	617891	C POLITICAL	10/29/2022	TC	RE	CR	MAIN CE	2.0	0 6.00	12.00	\$195.00	0
			Total Pro-prin	+c. O									

Total Pre-prints: 0

SUMMARY BY EDITION CODE

SUMMARY BY AD TYPE CODE

EDC	DESCRIPTION	COUNT	SPACE	AD COST	PP CNT	ATC	DESCRIPTION	COUNT	SPACE	AD COST	PP CNT
INT TC	INTERNET TDC The Chronicle	3 9 12	435000.00 134.00 435134.00	\$1100.00 \$2065.00 \$3165.00	0K 0K 0K	OL RE	INTERNET AmHome Moduler	9	435000.00 134.00 435134.00	\$1100.00 \$2065.00 \$3165.00	0K 0K 0K

SUMMARY BY SECTION CODE

SECT	DESCRIPTION	COUNT	SPACE	AD COST	PP CNT	SR	DESCRIPTION	COUNT	SPACE	AD COST	PP CNT
MAIN M	AIN	12 12	435134.00 435134.00	\$3165.00 \$3165.00	0 K 0 K	СВ	CRYSTAL STARR	12 12	435134.00 435134.00	\$3165.00 \$3165.00	0K 0K

SUMMARY BY AD CLASSIFICATION

CLASS CODE	DESCRIPTION	COUNT	SPACE	AD COST	PP CNT
		9 3	435098.00	\$2580.00 \$585.00	0K 0K
	SUMMARY TOTALS:	12	435134.00	\$3165.00	0K

Report Criteria (Macro: 240880)

Begin Date(blank for any):: 03/01/2022
End Date (blank for any):: 11/30/2022
ENTRY date (blank for any entry date)::

Entry Date Range End (blank for no entry date range):

Page 2 of 2 bwatson

Sales Rep:

Elapsed Time: 0.156 seconds

Position:

Booked Ads

Begin Date: 03/01/2022 End Date: 11/30/2022 Entry Date: Entry ID: Customer: 29123311 Edition: Section: Ad Type: User-ID who entered the ad (blank for any user):: Edition code(s): Ad type code(s): Rate Code(s): Section code(s): Position code(s): Sales area(s): Enter customer number:: 29123311 Enter umbrella account number: SIC Code(s): Show ad detail?: Y Display Supplementary Detail: Sort Order:: Break down ad type code totals by edition code?: N Show special/color charges separate from ad cost?: N Break and subtotal on sales rep?: N Report on default sales area instead of booked sales area?: Specify secondary sort: N Break and subtotal on advertiser?: Include lineage from Schedule-Only ads?: Customizer: Show Web Size/Impressions:: Show invoiced ads?: Y Show open ads?: Y Show killed ads?: N Show quote ads?: N Show web ads?: N Show hold ads?: N Show make good ads?: Y Show override ads?: A Suppress charts?: Include Ads Ending Between: Ad Ending Begin Date Range: Ad Ending End Date Range: Include Ads That Began Between: Ad Start Begin Date Range: Ad Start End Date Range: Filter By Extensions ...: ... With These Values:: Print Ad Classification Summary?: Print User ID Summary?: N Print Rate Code Summary?: N Print Package Code Summary?: N Print Run Date Summary?: N Print State Summary?: N Print Charge Code Summary?: Print Charge Code By Edition Summary?: Print SIC Code Summary: N Burst Report By Sales Rep?:

E-Mail Bursted Report If Sales Area Has E-mail Address Assigned:

Report Start: 2022-10-17 12:11:59.970 Report Complete: 2022-10-17 12:12:00.126

Invoice # 16130-1



KELA AM 1470 1635 South Gold Street Centralia, WA 98531 360-736-3321 Date 09/30/22 Sales Person Ashley Werner

Product Mike Hadaller for PUD Commissioner District 3

Balance Due 256.00

MIKE HADALLER FOR PUD COMMISSIONER

Prefer emailed invoices? Send request to centraliatraffic@bicoastal.media

Date	Description Times	Qty	Rate	Total
09/21/22	Mike Hadaller PUD commissioner District 3/30 (7:29a 7:50a	2	16.00	32.00
09/22/22	Mike Hadaller PUD commissioner District 3/30 (7:56a 9:24a	2	16.00	32.00
09/23/22	Mike Hadaller PUD commissioner District 3/30 (7:52a 9:24a	2	16.00	32.00
09/26/22	Mike Hadaller PUD commissioner District 3/30 (8:11a 9:58a	2	16.00	32.00
09/27/22	Mike Hadaller PUD commissioner District 3/30 (7:24a 7:51a	2	16.00	32.00
09/28/22	Mike Hadaller PUD commissioner District 3/30 (7:25a 9:58a	2	16.00	32.00
09/29/22	Mike Hadaller PUD commissioner District 3/30 (6:45a 7:45a	2	16.00	32.00
09/30/22	Mike Hadaller PUD commissioner District 3/30 (7:22a 7:40a	2	16.00	32.00
		Subtotal (Spot:16)		256.00
		Balance Due		256.00













